S =

2+
=

| A

O
=

o}

1.

11x+ 11

b

ul

x+ (2x-1)+ (2x+3) +3(2x + 3) = 11x + 117} Hr}.




A of, Ax B 9

AXBO FLe -

wl 00
£
=




el LA AR oumelgoltt, A3 2N a, b, x ©]
Aoz tehyg?

@ma 4 100b + 500(x —a — b) &
@ (100a + 10b 4 500x) ¥

® (10a + 1005 + 500x) ¥

@ (100a + 100b + 500x) Y

® 100a 4 10b + 500(x —a —b) ¥

AR = a A, AR = b N, QMARA = (x—a - b)
oltt.
A E5 ¢roll FA-L 10a 4 100b + 500(x — a — b) Foltt.




4.

E200g ol &7 ag Eol

Upehfjolat.

> =1 3 %
100a
pal=
> zd 200 +a=
a 100a
200 + a _200+a(%)




22 o g ool

N
ne,
£

><I>—‘

«<

=1x24+1x(-3)-1x4
=2+ (-3)-4=-5




offl
=il
ok
N
)

3
R
2
)
Py
filo
Ho
4
Rl
it
rg
D

7]
@ 2ab, —3ab © x%, 2x © x2%, 4x?
® 12, y? © 3x, 5y ® 7a, 2a
e ® @@
®© 6 0 @a. .0
68,006 8

~&B

553 8
© x%, 2x :
® »%, y* !
© 3x, 5y -

Ao} A4 mE e g
224 AT 47k
227} v,
227} v,




@ 4+x

© x+x+x+x

© xx4

® xXxXxXx

v V. v Vv
0
o ol
®

0x
n
@)

B

@4+x
O xx4=4x
©x+x+x+x=xx4=4x

@xxxxxxx=x*




8.  Tx—{bx+5y-(3x—2y+1)} = ItHs] & uf, x 2}y O] A40] S
“otofet.

> E.

> " -2

B

Tx—{5x+5y—-(3x-2y+1)}
=7x—(5x+5y-3x+2y-1)
=Tx—(2x+Ty—-1)
=Tx—2x-Ty+1
=bx—-Ty+1

urebA x ofy O] A9 25 - 7= -2 o]t




B 3x+12

-x—{-(5-x) x)}
:—x—(—5+x—6+2x)—1(3x+ 12)
——x—(3x—11)—§x—3
N 4

3
= —4x+ ll—Zx—3

:—Zx+8

19

T X8 =-38




3x =4y & ,xfy—x%y%k%?—aoqa}.
> E
>mg: 2

Folg 4 - 2 o] = 2y & el
4 4
¥ vy _3_»
4 3 4 3 1 7
P73 ¥y 3 @
4 1 7
=§yT§y—yT§y
4 3
BEAEIRT
3
:4_?
_ 3
77

~& N8




